1) Find the value of 6(9 — 4) + (13 — 8). (Lesson 1-1)

B9 C 14 D 23

2) Identify the numerical expression for the product of nine and

1.O®O0 O

seven. (Lesson 1-1)
FO+7 Gdas7 H7-9 @ 2.0000

3) Which expression represents seven less than the quotient
of sixteen and four? (Lesson 1-2)
AT7T+(16x4) (BO6+4) -7

C 16(7 — 4)

5) The statement abc = cab is an example of which property of
multiplication? (Lesson 1-3
( A commutative> B inverse C identity D associative 5.0 © Q@

6) Alexa keeps her baseball cards in a binder with plastic pages.
Each page has slots for 9 cards. Which expression can be used
to find the number of baseball cards Alexa can keep in a binder
with p pages? (Lesson 1-2)

F 9+p g f JL

7) Simplify 2x + 3(y + Hx). (Lesson 1-3)
B 7x + 3v C 17x+y D 2x + 3y

8) Translate two more than four times a number into an algebraic
expression. (Lesson 1-2)
F 2t +4 G 2+4+t H 4t+2)

9) Jaime works at the carwash for 3»% hours and earns $24.50.

What is his hourly wage? (Lesson 3-4)

A $7.50/hr B $7.00/hr C $6.50/hr D $6.00

10) fvaluate a — b ifa = —~12 and b = —8. (Lesson 2-3)
F —-20 G —4 H 4 J 20

o
e

iy ~2 3 pas L [
11) S.tmplzf}. 25 +8z ( 3 e
o sl B 0 C 62 D 112

. {Lesson 3-5)

12) Solve —54 = —4n + 2. (Lesson 4-5)
F 13 ::G 14 ) H —-56 J —14

13) Which expression is equivalent to 5(n + 2) — 3(n + 2)? (Lesson 4-2)

on + 4 B 2n + 16 C 2n D 2 — 4

D(16-4x7 3.6000®
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1.

greatest, (Lesson 2-1)

A {-5, -11, -18,0,2, 7, 32}

@{—1& Z11, =5, 0,32, 7, 39]

Order the integers {32, —18, 2, 7, 0, -5, —11} from least to

C 185,72 085 1T, <18
D 0,2 5,7 —11,—18,39)

Evaluate each expression if ¢ = -3, b =4, and ¢ = —6.
2. bt+e+a

F -13 G -5 H -1 J 13
3. a~b+ec

A -1 B -5 C -7 D -13
4. bc +a

¥ 27 G 21 H 6 Jd 72
5. lbel +a

A -21 (B -8) C 8 D 27
Simplify each expression.
6. 7a(-3b)

F 7a —3b @ H 4ab Jd —10abd
7. —5x(—12vy)

A 17xy B —17xy @ D —60xy
8. Replace the = with <, >, or =10

make | —7] ¢ 7 a true sentence. (Lesson 2-1)

A <

& =

D none of these

9. Find the coordinate of the point (-3, 6) after

it has been reflected over the y-axis. (Lesson 2-7)

10. 19 - 38
11. —11 + | 4]

F —1i5 G -7
12, —12(-3)

A —-36 B —15
13.

(Lesson 2-3)

F 10 G 8
14. 11(—6)(-2}

132 B 19

15. 325 + (-5)

'F 320 G 65

H (3, ~6) J (6, ~3)
C 47 D 57
H 14 J 44

Evaluate the expressiona + b —c¢ifa= -1, b =3, and ¢ = 6.

C 3 D -132



16. Simplify (—4)(3a)(—4b). (Lesson 2-4)
(A 48ab ) B —48ab C —1liad D —5ab

7. Evaluate the expression < if x = —60 andy = 5. (Lesson 2:5)
‘ 1 . 3 _
F 12 G 5 H 5 oJ 12

18. Solvex — 3 :v*é {Lesson 3-3)

4
G 1 - e e
12

19. Evaluate 24 = (6 — 4) - 4 + 3. {Lesson 1-
A3 B 6 D 84

20. Which inequality is represented by the graph below? (Lesson 5-3)

e

5432101234
F x>3 G x<3 Jx>3

21. Evaluatea — b +cifa=6,b= —8, and ¢ = —2. {Lesson 2-3)

A 16 E 1D C o D -4

22. Which shews an equivalent expression to 2(a + 6)? iLesson 4-1)

F 2 +6 G (2+a)2+6) H£+3

23. Evaluate the expression | 18] — | 6] — (—5) {Lesson 2-1}
F 7 (E:f 17 ) H 29 J 219

Y
.
n
e

o -

24. Write 0.36 as a fraction in simplest form. (Lesson3-2)

36 T , 3 36
A 100 25 C 6 D 10

25. Translate the number of books increased by 4 into an algebraic
expression. (Lesson 1-2)

F 4b G b-4 b+ 4 J 4-0

26. Which of the following shows the fractions ordered from least to
greatest? (Lesson 3-1)

1 3 4 3 1 4 & ¥
AQ"T’IG B"'?"’E’ c 2




1) What is “8 less than the quotient of a number n and 3” written
as an algebraic expression? (Lesson 1-2)

F a2 B3
3
¥

2) If |x| = 4, what is the value of x? (Lesson 2.1)

A 4and8 B Oand4 C —4and0 (D ~—4an&4>
3) Simplify ~42 + (-18) + 88. (Lesson 2.3)

F —148 G 28 J 148

4) Simplify 15(—3}=5). (Lesson 2-4)

A 995 B 175 C 175 @

5) Which decimal is equivalent to %? (Lesson 3-1)

F 3.8 G 266 J 0.3

6) Which is less than 3%‘? (Lesson 3-1)
X 0.3166 B 3.166 C _3%— D 3-:%

7) Find 12. (“f;) Write in simplest form. (Lesson3-3)
, .

¥ gL 22 4 RN _9 5
F l3 G 51 H 121 J -2 4
o @& s P |
8) Whatis - divided by }§' (Lesson 3-43
P 2 20 4

9) Evaluate 3x — 2y + 4z
fx=7y=4andz=8 p g
{Lesson 1-2)

H 63

10) How much less is %

th&z1~’§~in decimal form? A 02 B 075 C 0.95

(Lesson 3-6)

11) A website sells small T-shirts for $10 and medium T-shirts
for $12. There is a 85 fee for shipping and handling. Kay
orders 5 small and 6 medium T-shirts. Write an expression

mainay finads € 1a1dnyD

that can be used to find the total amount Kay pays for the
T-shirts. (Lesson 1-1) A $115 B $122 @ D 5137

12) TRAVEL Cho and his family drove 428.4 miles in one day.
The next day they drove 3‘57% miles to reach their
destination. What was the total length of their trip?
{Lesson 3-8) g 55
F 7858mi G 785.mi (H 785-mi) J 7852 mi



1. Evaluater —s + 4 ifr = 23 and s = 18. {Lesson 1-2)

A 45 B -1 @ D1

2. Rewrite the expression (9 - p) - 2 using the Commutative Property.

{Lesson 1-3)
F 9-p-2 G p-(9-2) H 9-{p-2) J 2-(09-p)

3. Find the product Ofé and 1—5)— (Lesson 3-3)

9 ) 2
A2 c 12 D 4

4. Find the product of —5 and 4x. (Lesson 2-4)

G 20x H — %4 J 24
5 4

~]

5. Evaluate the expression ac + bc ifa = -2, b = 5, and ¢ = 3.
{Lesson 2-3)
B 21 C 5 D -5
6. Replace © with the correct symbol to make % %a true

sentence. {Lesson 3-1)

F < G - @ & =

7. Which number belongs to the set of rational numbers and the
set of integers? (Lesson 3-2)

1 2 -
A 73 B 1 c 52

8. Which is the simplified form of (152 + 7) — 327 (Lesson 4-2)
(F122+r> G 92 -7 H 924+ 7 J —45z — 21

9. Solve —48 = 6m1. (Lesson 4-4)
A -6 B 8 C -52 D -8

10. Solve 73— = —21. (Lesson 4-4)

F 63 6 -3 H 7

11. What is the solution of —8 = m + 8? (Lesson 4-3)
A 2 B 14 (C —14? D -2

12. What is the solution of —6w = 727 (Lesson 4-4)

F 12 G —432 ( H -12 ) J 432

13. Evaluate 14 — ¢ + 3d ifc = 6 and d = 2. (Lesson 1-2)
A 29 B 16 C 14 D2
14. Name the property shown by (8 -2) -3 = 8 - (2 « 3). (Lesson 1-3)
F Commutative Property H Distributive Property
@m J Multiplicative Identity
15. Simplify |—6] 4+ |7]. (Lesson 2-1)
A —13 B -1 C1 D 13

M3IN3Y J1f123dS t 431doy)




Find each square root.

1. v289

A 83,521 B 1445 ' E‘ ET) D not possible

2. —\/361

F 130,321 H -180.5  J not possible

For Questions 3 and 4, estimate each square root to the nearest
integer. Do not use a caleulator.

3. V65
A 4225 B 130 D 7
4. /147 .
g ~11 H 11 J 12
5. Evaluate the expression |a| — 2|b]ifa =3 and b = —6. (Lesson 2-1)

A 15 B9 @ D —15

6. If the value of y — 7 is 18, what is the value of ¥? (Lesson 1-2)

A 35 (B 25) C 11 D 7

7. Which equation represents seven less than the quotient of a

number and 3 is 67 (Lesson 4-6)

B3n-7=6 D%mﬁz'?
g. Write the inequality for the graph. (Lesson 5-3)
210123456
Aa=3 Cc<3 D d<3

9, Solvex — 6.9 = —9.1. (Lesson 5-4)

Fx>22 (Gx=-22) Hx>-16 J x<-2.2

10. Solve "< —30 . (Lesson 5-4)

6
A m <30 B m < 180 C m>30 ( D m=>=180

11. Which inequality represents six less than three times a number is
more than eighteen? (Lesson 5-5)

F (6—3)n > 18 (H3n—6>18)

G 3n+6>18 J 6n—-3>18

M3IN3Y 21f123ds G Jaidoy)
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Simplify each expression. (Lessons 2-4 and 4-2)

12. —6(—4a)—2b).
A 48ad B —-12ab C —48ab D —48

13. 4¢3+ 4 — 11 + ¢
5t — % G 3t -7 H -2 J 5t + 15

14. Five times the sum of a number and 15 is greater than 37.
What is the number? (Lesson 5-3)

x>— C x>-8 D x=8

15. Solve x + i 4. (Lesson 5-4)

Mainay afizads g 4a1dony)




